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Name: _____________________     Class: _________________ 

M8-U4: Notes #5 – Graphing Linear Relationships  Date: __________________ 

 

Warm-Up! 

 

1. For a homework assignment, Sarah must draw a line passing through the points (-3, -3) 
and (3, 3). Graph Sarah’s line on the grid below. 

 

 

 

 

 

 

 

 

 

 

 

2. Graph a line that goes through the following 2 points: ( ) ( )1,2,3,4 −−  
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Graph a linear relationship based on information provided: 

1. Given slope of 
3
2  and the y-intercept is 3. 

 

 

 

 

 

 

2. Given slope of 0  and the y-intercept is 1. 

 

 

 

 

 

 

 

3. Given 2−=m and the y-intercept is (0, 2). 

 

 

 

 

 

 

 

4. Given 
4
1

−=m and the point (0, -1). 
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Graph the linear equations: (Hint: identify the slope and y-intercept) 

1. Graph: 2
3
1

−= xy .   2. Graph: 5+−= xy . 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

3. Graph: 3
2
3

+−= xy    4. 13 −= xy  
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Graphing Equations by Making Tables:  

1.  

 

 

 



 5 

2.  

 

 

 

 

 

 

 

 

 

 

 

 


